WAC 388-835-0770 How is a state facility settlement calculated?
The settlement must be calculated as follows:

(1) If the state facility's allowable costs for the report period
are greater than their interim payment, the amount owed to the facili-
ty 1s the allowable cost amount minus the interim payment.

(2) If the state facility's allowable costs for the report period
are less than their interim payment, the amount owed by the department
is the interim payment minus the allowable cost amount.

[Statutory Authority: RCW 71A.20.140. WSR 01-10-013, § 388-835-0770,
filed 4/20/01, effective 5/21/01.]
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